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Q-1 Write tlre correct option in the answer book. [10]

(1)  Activity which is completed before starting new activity is called

{a) dummy (b} predecessor {c) successor {d) none of them
(2)  The saddle point in the game is ax=1 then the value of game is

@0 (b1 {c}2 {d)3
'(3} What happens when maxmin and minmax values of game are same?
(a) No solution exists  (b) saddle point exists (¢} solution is mixed (d) none of these

4  InJob sequencing the time involved in moving jobs from one machine to another is ...,
(a) negligible (b) positive number (c) significant (d) none of these

(5)  InJob sequencing if smallest time for a job belongs to machine 1 then the job has to place
.... of the sequence,
(a) at the end {b) at the beginning (¢) at the middle (d) none of these

(6)  If number of sources is equal to number of destination in Assignment problem then it is

called .
() unbalanced (b) symmetric (¢) unsymmetric (d) balanced
(7)y If player A is plays strategy As with probability 1, then he plays the game with
strategy.
(a) Pure (b) Mixed (c) Minimal (d) None of these

(8) The optimal solution for A.P. with size n exists if no. of assigned zero is equal to

- (a) mtnesl (b)) 2n=1 (©n (dy m
(9) Danglingisatypeof....... In network scheduling,
{a) event : (b) activity {c} error (d) none of these
(10) operation is carried out at a machine,
{a) Two (b) at least one {c) only one (d) none of these
Q:2  Answer the following in short. (Any Ten) 120]

(1)  Define: i. pure strategy  ii. Mixed strategy.

(2)  State the rules for drawing network diagram.

(3)  Write the steps for solving a A.P. by Hungarian method,

(4)  What is no passing rule in the sequencing algorithm?

(5)  What is an unbalanced assignment problem? How to resolve it?

(6)  Write the necessary condition for Johnson’s algorithm for n jobs through three machines.
(7)  Write a rule fo draw minimum number of lines to cover all zeros in AP.

(8) Explain what you mean by sequencing problem.

(9)  Explain dominance property in game theory.

(10)  What is dummy activity? :

(11) Define: i. payoff matrix  ii. saddle point

(12) What is total float? (PTO)
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Q-3
(a})  Solve the following assigniment problem so as fo minimize the time (in days) required  [5]
completing all the task.

person | Task
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(b)  Solve the following assignment problem. | {51
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()  Solve the following assignment problem, 5]
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(d)  Find the assignment of salesmen to various districts which will yield maximum profit. [5]

Salesman | District
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Solve the following game problem. Determine the optimum strategies for each player and  [5]
also obtain value of the game,
‘ ‘Bl B 2z
A [0 2
-1 4
Solve the following game problem using dominance criteria. {51
B 1 B 2 B 3
43 -2 4
41-1 4 2
41 2 2 6
OR
Solve the following game problem using graphical method. {51
PlayerB
21 0-2
PlayerA
I 0 3 2
Solve the following game problem using dominance criteria. [5]
B H B 2 BS Bd
8§15 -4 -2
1915 17 16
020 15 5
Five jobs are performed first on machine X and then machine Y. The time taken in hours [5]
by each job in each machines is given below:
Job A | B C D
Machine X 6 2 10 4 11
Machine Y 3 7 8 9 5
Determine the optimal sequence of the job that minimizes the total elapsed time to
complete the job, '
There are 5 jobs, each of which must go through the two machines A, B and C in ABC 15]
order. Processing times (in hours) ate given below. Determine a sequence for 5 jobs that
will minimize the elapsed tine.
. Processing time
Job i A B, C
1 8 . 3 4
2 10 6 9
3 6 2 8
4 7 3 6
5 11 4 5
Determine a sequence for 5 jobs that will minimize the elapsed time.
- OR
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Following tables shows the machines time (in hours) for 5 jobs to be processed on two

different machines:
Job P Q R S T
Machine A {3 7 4 5 7
MachineB 16 2 7 3 4

Passing is not allowed. Find the optimal sequence in which jobs should be processed.

Find the sequence that minimizes the total elapsed time required to complete the
following task:

Tasks

D

Time on R machine

Time on S machine

G
7
3

Eime on T machine

A
3
4
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For the following network diagram obtain the critical path, total float, independent float

and free float values.

Write down the procedure to obtain optimum completion time using Critical Path method.

OR
A project has the following time schedule:
Activity Time Activity | Time Activity Time
(month) In month In month
12 2 3-6 8 6-9 5
1-3 2 3-7 5 7-8 4
1-4 1 4-6 3 7-9 3
| 2-5 4 5-8 1

Construct PERT network and compute total float for each activity and Find Critical path

with its duration.

A small maintenance project consists of the following 12 jobs

Jobs puration Jobs Duration Jobs pul‘ation
in days in days in days

1-2 2 3-5 5 6-10 4

2-3 7 4-6 3 7-9 4

2-4 3 5-8 5 3-9 1

3-4 3 6-7 8 9-10 7

Draw the arrow network of the project. Determine the critical path.
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